BTCA BGSIBGSP 000000000000 BADOD (eiis/fER) (58

Parts No.O O 0 0 [

Parts No.
gogno
4-MO0 Wi+ 0.2 B B
s e
8 i 3 2 \\
: (N TZ 98 )
7(3&J S S _—

= -

\ ™ 5 7y ok X

4-RL50R2.5 / W/20505 4-MO00 A PALL P: 0.2
W

01 Lods

0BTCAD 0O0MOOOM BGSIBGSPII O DOOOO0O OO0 P.31300 00000000
ood 00000000000 | DOobobooo

Parts No. od L [oD| W B [£1|W1 M P | PA kg NOm{kgElm} |0 000000 mmi
BTCA6-50 6 | 50|12 | 20 6 | 25| 14 | M35 25112.5/0.03| 0.9810.1001]0.03500 0.070
BTCA6-75 6 | 75|12 | 20 8 [ 25| 14 | M3x5 50 [12.5|0.07| 0.981 0.1001/0.035[J 0.070
BTCA8-50 8| 50| 14 | 22 8 |25 ] 15 | M35 25112.5/0.04| 0.980.1001/0.01800 0.105

BTCA8-75 8 | 7514 | 22 | 10 | 25| 15 | M35 50 |12.5/0.09| 0.9810.100/0.018[1 0.105
BTCA10-50 10 | 50| 16 | 25 | 10 | 25| 18 | M4x 6 20|15 |0.07| 2.400.240]0.016010.106
BTCA10-75 10 | 75| 16 | 25 | 12 | 25 | 18 | M4x6 45|15 (0.11| 2.400.240]0.0160 0.106
BTCA10-100 | 10 [100| 16 | 25 | 12 | 25| 18 | M4x6 70|15 |0.14| 2.400.240]0.016000.106
BTCA12-50 12 | 50| 20 | 30 | 12 | 3.0 | 20 | M4x 6 20|15 |0.11| 2.400.240J/0.024[10.119
BTCA12-75 12 | 75020 | 30 | 15 | 3.0 | 20 | M4x 6 45|15 |0.16| 2.4010.2401/0.024000.119
BTCA12-100 | 12 [100| 20 | 30 | 15 | 3.0 | 20 | M4x 6 70|15 |0.21| 2.400.240J/0.024[10.119
BTCA16-50 16 | 50| 25 | 35|15 |3.0| 25 | M5¢ 8 25|15 |0.14| 4.900.5000/0.03400 0.127
BTCA16-75 16 | 75|25 | 35| 15 |3.0| 25 | M5< 8 40 |17.5/0.20| 4.900.5000{0.03401 0.127
BTCA16-100 | 16 |100| 25 | 35 | 20 | 3.0 | 25 | M5x 8 65 |17.5/0.27| 4.900.500/0.034 0.127
BTCA16-125 | 16 [125| 25 | 35 | 20 | 3.0 | 25 | M5x 8 90 |17.5/0.34| 4.900.500/0.034[1 0.127
BTCA20-75 20 | 75|30 | 45|20 | 30| 30 | M6x11 | 40|17.5/0.34| 7.8010.8001/0.0390 0.150
BTCA20-100 | 20 |100| 30 | 45 | 20 | 3.0 | 30 | M6x11 | 60 (20 |0.45| 7.8[10.800J/0.039] 0.150
BTCA20-125 | 20 |125| 30 | 45 | 20 | 3.0 | 30 | M6x11 | 85|20 |0.56| 7.8010.800J/0.0390J 0.150
BTCA20-150 | 20 |150| 30 | 45 | 30 | 3.0 | 30 | M6x 11 (110 (20 |0.68| 7.8[10.800J|0.039J 0.150
BTCA20-200 | 20 |200| 30 | 45 | 30 | 3.0 | 30 | M6x11 [160 (20 |0.91| 7.8010.800J/0.0390J 0.150
BTCA20-250 | 20 |250| 30 | 45 | 30 | 3.0 | 30 | Méx 11 (210 (20 |1.13| 7.8[10.800J/0.0390J 0.150
BTCA25-75 25 | 75|35 |50 |20 |35| 35| M6x11 | 40|17.5/0.40| 7.80J0.800J{0.042000.153
BTCA25-100 | 25 [100| 35 | 50 | 20 | 3.5 | 35 | M6x11 | 60 |20 |0.53| 7.8010.8001/0.042010.153
BTCA25-150 | 25 |150| 35 | 50 | 30 | 3.5 | 35 | M6x 11 (110 (20 |0.80| 7.8010.800J/0.042(J0.153
BTCA25-200 | 25 |200| 35 | 50 | 35 | 35| 35 | Méx 11 (160 (20 |1.07| 7.8[10.800J/0.042[J0.153
BTCA25-250 | 25 [250| 35 | 50 | 35 | 3.5 | 35 | M6x 11 |210 |20 |1.33| 7.8010.800]/0.042010.153
BTCA30-75 30 | 75(42 | 60 | 20 | 35| 40 | M8 13 | 35|20 |0.58| 20 [J12.0007{0.0450 0.160
BTCA30-100 | 30 |100| 42 | 60 | 20 | 3.5 | 40 | M8 13 | 50 (25 |0.77| 20 [ 2.000J/0.0450]0.160
BTCA30-150 | 30 |150| 42 | 60 | 30 | 3.5 | 40 | M8 13 (100 (25 |1.16| 20 [12.000J|0.045010.160
BTCA30-200 | 30 |200| 42 | 60 | 40 | 3.5 | 40 | M8x 13 [150 (25 |1.55| 20 [ 2.000J|0.0450]0.160
BTCA30-250 | 30 |250| 42 | 60 | 40 | 3.5 | 40 | M8x 13 (200 (25 |1.93| 20 [12.000J|0.045010.160
BTCA30-300 | 30 |300| 42 | 60 | 40 | 3.5 | 40 | M8x 13 [250 (25 |2.32| 20 [J2.000J/0.045010.160
BTCA40-100 | 40 |100| 52 | 70 | 30 | 3.5 | 50 [M10x 16| 40 (30 |0.97| 37 [13.800J/0.0500]0.165
BTCA40-150 | 40 |150| 52 | 70 | 30 | 3.5 | 50 |M10x 16| 90 |30 |1.44| 37 [ 3.800J/0.050000.165

oOoooooono

296



